EARAROBEEIERT — 2 N— IBISH —F

20195F4H28H (B) SEIZ#R3H

Ml >%3m® 500ATF (GRE) Uswl Bk \ (X4&] # \ [Emsml  — | & (@) 1800M &
[A&4£] 1 7% :7,200,000 @ 23 :2,900,000 @ 33 :1,800,000 . 43 :1,100,000 @ 5 j& :720,000 M
B\ BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
; # 3 | M. FLA-A 1:51.3 1-1-1-1 | 36.3(100.8 | 1 566 | FIREA (i)
1155 FNV b1 22— 56.0 o © (Hftﬁﬁ.ju_ﬁ_x.l:j
L= R7PY2—) B:FIXFTAUX HAS
5 = 4 3 | C. bx—Jb 1:52.3 8-7-7-4 |36.7| 91.4 | 3 472 | BIRE (EH)
2 3|3A>H7— 56.0 ®) (<) |LOIEE—ER
L:xF1=G7—R BHYFIRA—FT1— LS
N 1BKI— : —7-7- BAZERE (ER)
slglo| vy znE—7F i3 hx 1.;5533.1 7-7-7-7 | 37.4| 83.6 | 4 zzg? o (
LixAvavthayy B0 X K- HRXEHE /-
SN 3 | EEREN 1:53.3 3-3-3-3 |37.9| 81.6 | 8 492 | EER— (FH)
al1|1|a=Kun—%u 56.0 a1/ o | #) o-Fr-x957
L:N—=Y754 B:I)LF7hHO TATAT7—1L
N — e FLE—ER :53. -2~ . . AHREE (EX)
5 6l x1vamraay 3 B 1(753t)3 2-2-2-2 |38.2| 81.8| 2 ig? pARe
TANWNTTFY— B:x142ad7hY% ERKS
S 3 | fiEE= 1:54.0 6-5-5-7 |38.4| 75.7 | 7 456 | BDREZ (ER)
6 o | EAYT s 56.0% @) -6) (E) J—ZELZR
L:hFotw K B:7oRLIL/— KL #stt /—Xex
I 4 3 | FlsEX 1:54.2 3-3-3-4 |38.7| 742 | 9 492 | EEFMFE (ER)
7177 ®AT—bTIT 3 56.0 (11/2) (-1a) | KA
A2:Super Saver £ :Runway Model Summer Wind Equin
# o3 | LEERIE 1:54.2 8-9-10-10 [38.2 | 73.8 | 10 | 492 |EREE= ()
glzlg|F¥av79+—u [B] 5.0 o) o | ) whs
RNV v HF—Ib BYINFT 4 —> S
_— . i3 | HEE— 1:55.4 10-9-7-9 [39.6| 65.1 | 5 482 | ENER (ER)
] 4|7V v Y—=F 56.0 ) ©o |EBRSHILY
LY RYTYRIR BTt Tr J—HFrIr—L
5o =_ # 3 | dERKR— 1:55.5 5-5-5-6 | 39.9| 64.7 | 6 478 | SEHE— (EH)
10l8l10| Y2 —>RAT—%2R 56.0 (7E) (+2) | EIIE
L:xA14agR—-5— B:I757-Fx>7 =H XA
@ 21 L
£y 48.7-36.3
NO>24 L [ 12.0-11.6-13.4-12.8-12.8-12.4-12.2-11.6-12.5
@ I—F—@EBIERL
|S=7r= 5,6(1,7)10,2,9(3,8)4
23—7+— |5,6(1,7)(2,10) (3,9) (8.,4)
30—4-— (¥5,6) (1,7) (2,10) (3,9,4)-8
41—F— 5,6,1(3,7)10(2,9)4,8
[ RN
B Op 5 200M 794K 3-5 270M & 3-5 700/ &R 3-5-9 1,240M
# B ) 110 5-9 320M B E Bg0 630 EE 5-3-9 4,110
3 1609 3-9 560M B H 5-3 900M
9 1609

ABICOVWTRDTEEERROODE. TR LIV,




